Asexual Reproduction, Mitosis, Mieiosis AND DNA Review
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(1. Typeof asexual reproduction when an offspring grows from a piece
of its parent (like starfish).

A. Budding

, B. Fission
,’4 2. Type of asexual reproduction when a new organism grows on the

body of its parent. When it is large enough it breaks off to live aione. C. Animal Regeneration

a'f 3. Invotves 2 parent organisms armd the proeess of meiosis D. Vegetative Reproduction

g 4. Type of asexual reproduction-in prokaryotic cells, such as bacteria,
where the parent cell divides into two identical cells.

E. Asexual Reproduction

‘ F. Sexual Reproduction
E 5. Involves 1 parent organism and produces organisms that are

genetically identical to the parent.

Z? 6..-Type of asexual reproduction in which offspring grow from a part of a
parent plant.
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16. What is a-eukaryote? (1 (¢ ’(./ij é‘fl 'p)ﬂm’o amm“") With a hveleos and amﬁ/?e//zf

15. What is a prokaryote?

17. What is cloning?
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18. Mitosis is to
reproduction.

3. Write the 3 main stages of the Cell Cycle invthe correct order:
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20. What stage does the cell spend 90% of its time?




20. Mitosis occufs in human bﬂd% cells which have ézé chromosomes.

21. What are the 4 phases of Mitosis? 7) rophast. , [ fa phade. ,
Araphast ,____Toliphase /

[
£ 22, Centromeres break down and spindle fibers pull sister chromatids apart from each A. Metaphase

other and toward vpposite poles of the cell.
' B. Interphase
{;_o 23. In this phase, chromosomes wind up and condense into sister chromatids. The

nuclear membrane disappears and spindle fibers as well as centrioles appear. C. Prophase
E 24. In this stage, the parent cell fully divides into two genetically identical daughter D. Cytokinesis .
cells.
E. Anaphase

ﬁk 25, Sister chromatids line up along the equator (middle) of the cell.

F. Telophase

g 26. Most time consuming stage of the cell cycle in which chromosomes (DNA) and
organelles replicate in preparation for mitosis. ‘

F 27. In this phase, chromatids unwind and become invisible chromosomes. The nuclear
membrane reappears and spindle fibers as well as centrioles disappear. A furrow er cell
plate forms which appears to divide the cell

33. What phase? 34. What phase?

Hrophaat Anaphast

35. What phasé? 36. What phase?
Telophase [heraphast

P,

37. What stage?
é’ﬁfpk}hﬁ.f/f ’

3B. What stage? ,_ .
WM@QC . 39. How many cels are made in

Mitosis? 4

40. Each daughter cell in Mito;}s has
‘how many chromosomes?




41. What stage occurs before Meiosts? ﬂﬁ’p’%m

42. What gets replicated during Interphase? CHrarm 174 /5/9’3’/”’5»(;"”’&1)
+3. How many givisions occur in Meiosis? Z
44. When does crossing over occur? /}//;'.'?/p/?zdé /

45. What is crossing over?

+He /méﬂ/f/ﬂ 2 jmz%fa Jatnia) brtuesn SIETE bty

46. What is the purpose of Meiosis? . /[" A '
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A7. How many chromosomes are found in human gametes? 27

48. in males, all 4 daughter cells go on to be J;??//’ﬂ? and in females, _&/%¢-  of the 4 becomes an egg.
49, What is this? 50. What phase? | 51. What phase?
9 Apwbled O hrormssomes
(or Z phromatids Wi ik'/@éf?d
| i

52. What phase? 53. What phase?

7z /f/;;fa}fm Z

26, What does DNA stand for?
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57. DNA is made up of nucleotides, what are the 3 paits of a nucleotide? ﬁ}ﬂ)’f,ﬂ’f‘&"ﬂfe A“pft?{’) ,

B /‘Vhﬁf; phatz , and /7/‘7‘1@5,1;” bt
58. What 2 things. make up the backbone or sides of the DNA? . Aeur baSe Kg”’,@’“’) and
;?hwiphﬂftr v

53. What makes up the middie or the rungs/steps of the DNA?
[itrogen bass

60-63: What are-the 4 nitrogen bases? /b!féﬂllﬂ-b ,
7}7? ML , EvariiL. _,and
Cutlesivie.
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64. What does Adenine pair with? %fm/)w

65. What does Guanine pair with? ’557/'4 £t

66. What is the shape of DNA? ﬂ’mé/b hel / itted /Mﬂf / ‘,(I’p/?z/ fﬁ/}wﬁc)
67. What 2 scientists discovered DNA? \7;/47-&4 Wﬂ/’f/ﬁ and

Francls Crict

68. What female scientists helped determine the double helix shape but did not receive the Noble Prize because she
died before it was given? ﬁv’ﬂﬁﬁfﬂ/ F 1AL

69, What is.DNA Replication?

when  DIVA /:ﬂ/wl‘f JHelf

70. Please replicate the following strand:

TAAGCGATTGGCAGTCGA
ATT CLCTAACCGTCAGLT

71.In DNA Replication, what enzyme unzips the original strand of DNA by breaking the hydrogen bonds between the
nitrogen bases? }’)z/fc:aw : ‘

72. After this enzyme unzips the strand, new nitrogen bases are added onto the exposed strand of DNA by the enzyme

DNA Polymerase. A pairs with T and G pairs with ,/"f . '

73. Finally, the new nitrogen base pairs are sealed up by the enzyme DNA Ligase and the backbone, which is composed
of phosphate and //7[50)(14 ribose [S’Vfiﬂf) is linked up. This creates 2 fdiﬁffdﬁ/ strands of
DNA! J

74.Where is DNA found ina cell?____ /Jvelevy

75. Organized packages of condensed DNA are called 2} fowponfoirie [

76. Sections on the chromosomes that code for a particular trait are called 5?.6}4&.1



